PROJECT MANAGEMENT PROFESSIONAL            Exam Simulation

1. The stakeholder analysis matrix is part of ...? 

a. Part of the Stakeholder Management Strategy - an output of identify stakeholders 

b. An output of Plan Communications

c. Part of the stakeholder register 

d. Part of Performance Reporting

2. Which relationship model is most commonly used in the Precedence diagrams? 

a. start-to-start 

b. start-to-finish 

c. finish-to-start 

d. finish-to-finish 

3. AOA activity diagrams are only represented using which representation? 

a. start-to-start 

b. start-to-finish 

c. finish-to-start 

d. finish-to-finish 

4. Which of the following is not true about the Delphi technique? 

a. Individuals participating must know each other for Delphi technique to be successful. 

b. Delphi technique is most commonly used to obtain expert opinion. 

c. In Delphi technique participants are generally anonymous. 

5. Typically signing of project charter is the responsibility of 

a. Project Sponsor 

b. Senior Management 

c. Project Manager 

d. Project stake-holders 

6. You are the project manager of ABC project. Mid-way through the project a key component was found defective. This was not planned for. The team met after the event and managed to make the product work without the defective component. This is an example of - 

a. Risk mitigation 

b. Transfer of risk 

c. Work-around 

d. Accepting the consequences passively. 

7. Most common cause of conflicts in a project is 

a. Schedules 

b. Technical opinions 

c. Personal Issues 

d. Project priorities 

8. The most long-lasting conflict resolution is caused by which of these techniques? 

a. Smoothing 

b. Confrontation 

c. Compromising 

d. Forcing 
9. You are the Project Manager of ABC project. The project is being executed in an earthquake-prone area. To take care of this you buy insurance for earthquakes. This is an example of 

a. Risk mitigation 

b. Transfer of risk 

c. Risk contingency planning 

d. Accepting the consequences passively. 

10. Which of these is correct with respect to a product developed or a service performed. 

a. Bad quality is acceptable, but bad grade is not. 

b. Bad grade is acceptable, but bad quality is not. 

c. Neither bad grade nor quality is acceptable. 

d. Grade and quality is the same thing. 

11. Which of the following theory was suggested by Deming? 

a. Apply continuous small improvements to reduce costs and ensure consistency. 

b. Marginal Analysis 

c. Expectancy theory - people expect to be rewarded for their efforts. 

d. Plan-do-check-act to improve quality. 

12. Which of the following is not a tool for Perform Quality Control process. 

a. Inspection 

b. Benchmarking 

c. Flow charting 

d. Histogram 

13. You are the Project Manager for ABC project. You need to find out which issue has maximum impact on the project. Which tool should you use? 

a. Pareto diagram 

b. Control chart 

c. Trend analysis 

d. Fishbone diagram 

14. When analyzing quality for a project a Project Manager decides to use a tool. This tool provides a creative way to look at the causes or potential causes of a problem. Which tool is the Project Manager planning to use? 

a. Pareto diagram 

b. Control chart 

c. Statistical sampling 

d. Ishikawa diagram 
15. A Project Manager is using AOA to perform critical path analysis. The network diagram is represented as shown using below. Which of the following represents the path: 

	Activity
	Duration
	Dependent on

	A
	3
	none

	C
	3
	none

	B
	2
	A

	D
	5
	C

	E
	2
	none

	F
	4
	E

	G
	3
	D,F

	H
	1
	D,F

	I
	2
	B,G

	R
	0
	H,I


a. ABIR 

b. CDHR 

c. CDGIR 

d. EFGIR 

16. For the sequence diagram in question 15, what is the float of activity B 

a. 2 

b. 3 

c. 5 

d. 6 

17. For the sequence diagram in question 15, what is the float of activity H 

a. 2 

b. 3 

c. 4 

d. 6 

18. According to Herzberg which of these is not an example of hygiene factors? 

a. job security 

b. salary 

c. safe working conditions 

d. appreciation of work 

19. According to Maslow's hierarchy of needs, which is the lowest level which must be met before other levels can be met. 

a. Esteem 

b. Physiological 

c. Social 

d. Safety 
20. Which of these is not a benefit measurement project selection method? 

a. Integer Algorithm 

b. Internal Rate of Return 

c. Scoring model 

d. Discounted cash flow 

21. Which of these is a constrained optimization project selection method? 

a. Parallel algorithm 

b. Number programming 

c. Murder board 

d. Dynamic Programming 

22. You are part of an expert committee deciding which project should be implemented by your company. Your committee asks tough questions from the project teams and helps decide which project your company should select. Which project selection technique are you using. 

a. Scoring Model 

b. Committee Selection 

c. Murder Board 

d. Defined Benefit

23. Which of these is a process in the Scope Management knowledge area 

a. Identify Scope 

b. Clarify Scope 

c. Control Scope 

d. Close Scope 

24. You have just been made the Project Manager of the ABC project. You are trying to read the WBS and are unable to understand some of the WBS components. Which should be your first step to understand this? 

a. Refer to the WBS dictionary 

b. Refer to the scope statement 

c. Refer to the Project charter 

d. Contact the previous Project Manager 

25. Who among the following is responsible for performing the scope validation 

a. Project Manager 

b. Senior Management 

c. The quality team 

d. The customer 

26. You are planning to use PERT for planning of your project. A task has pessimistic estimate of 24 days, most likely estimate of 15 days and optimistic estimate of 12 days. What is the mean using the PERT technique? 

a. 18 days 

b. 25.5 days 

c. 15 days 

d. 16 days 

e. 17 days 
27. Which of these is a process in the Project Procurement Management knowledge area? 

a. Select Sellers 

b. Control Procurements 

c. Control Contracts 

d. Plan Purchases and Acquisitions 
28. Oligopoly refers to which of these 

a. There is only one qualified seller in the market. 

b. There are no sellers in the market, so you have to build the product in-house. 

c. There are few sellers and action of one seller will have impact on other sellers prizes. 

d. Your company prefers to contract with only one seller. 

29. You are using straight line depreciation to compute the value of your computer after three years. If the current cost is $1000, what will be the value after three years assuming that the computer's life is five years. 

a. $0 

b. $400 

c. $500 

d. $600 

30. Which of the following is not true about analogous estimating. 

a. Estimate is based on past projects. 

b. It is not very accurate. 

c. It uses bottom-up approach 

d. It is a form of an expert judgment 

31. You have been asked to make an estimate for a project. The project involves manufacturing 1000 toys. You expect that as the team manufactures some toys, the time to make them will reduce. Which estimation technique are you trying to use? 

a. Analogous Estimation 

b. Regression Analysis 

c. Bottom up Estimating 

d. Learning Curve 

32. John is an excellent engineer. The management assumes that since he is a good technical performer, he will be a good project manager too. Based upon this, John was promoted to Project Manager. This is an example of 

a. Halo Effect 

b. Expectancy Theory 

c. McGregory Theory of X and Y 

d. Herzberg Theory 

33. Which of these is an example of processes in the closing process group? 

a. Project Closure 

b. Scope Closure 

c. Close Project or phase 

d. Scope Validation 

34. The authority to approve or deny change request lies with 

a. Project Manager 

b. Customer 

c. Project Sponsor 

d. Configuration Control Board 
35. You are the Project Manager of the XYZ project. You want to find the planned expenses for next month. Which document do you need to refer to? 

a. Cost Management Plan 

b. Cost Baseline 

c. Cost Control Plan 

d. Cost Variance report 

36. Which of the following is not true about the WBS report? 

a. WBS should focus in on the activities that must be performed in the project and should not focus on the deliverables. 

b. The project team must be involved in developing the WBS. 

c. As a rule of thumb, each activity of WBS should take less than 80 hours. 

d. WBS is usually represented in a hierarchical fashion. 

37. Which of the following processes produces WBS as an output? 

a. Plan Scope 

b. Initiate Project 

c. Define Activities 

d. Create WBS 

38. Which process identifies the project manager? 

a. Develop Project Management Plan 

b. Develop Project Charter 

c. Define Scope 

d. Select Project Process 

39. You are the Project Manager assigned to build a next generation vehicle. You identify a dependency that the wheels must be designed and developed before the assembly of the vehicle can be performed. This is an example of which type of dependency? 

a. External 

b. Discretionary 

c. Soft Logic 

d. Mandatory 

40. You are the Project Manager assigned to build a next generation vehicle. You identify a dependency that before the vehicle can be sold, it must be approved by the Government regulatory authority. This is an example of which type of dependency? 

a. External 

b. Discretionary 

c. Soft Logic 

d. Mandatory 

41. You are required to estimate the time to paint a large wall. You know it takes two hours to paint one square foot of wall. The wall has an area of 30 square foot. So you estimate that it will take 60 hours to paint the wall. Which estimation model are you using? 

a. Bottom-up 

b. Parametric modelling 

c. Analogous 

d. Expert judgment 
42. The level of accuracy for order of magnitude estimation is 

a. -25% to +75% 

b. -25% to +50% 

c. -25% to +25% 

d. -25% to +10% 

43. You are the project manager responsible for building a new web site. The project is running late. To bring the project on schedule, you decide to add additional resources to the critical path. This is an example of 

a. Fast-tracking 

b. Resource planning 

c. Crashing 

d. Schedule Management 

44. You are the project manager of ABC project. One of the risks that has been identifies is attrition of team members. Mid-way through the project you notice that the morale and motivation of the team members is going down. You think that this is a precursor to people leaving the organization. For this risk, low motivation is an example of 

a. work-around 

b. trigger 

c. risk monitoring 

d. risk planning 

45. You are working on the project of painting of your house. You identify a dependency that the painting of roof should begin only after two days of completion of painting of walls. This is an example of 

a. Lag 

b. Lead 

c. Slack 

d. Float 

46. What percentage of Project Manager's time is spent on communicating? 

a. 30 

b. 50 

c. 70 

d. 90 

47. You are the Project Manager for XYZ project. The scope of the project has been completed. You receive a request for a new module to be developed as part of this project. What should you do next? 

a. You should approach the Project sponsor and ask her for a new module to be developed as part of this project. 

b. You should approach the Senior Management and ask them for a new module to be developed as part of this project. 

c. You should send the request to Change Control Board for approval. 

d. Since the project scope is completed you should inform the customer that this change cannot be done as part of the project. 

48. Perform Quality Assurance process is part of which phase? 

a. Planning 

b. Execution 

c. Control 

d. Closure 
49. You are managing the project of planning a party for your company employees. There is a risk that the employees will not come to the party. You decide to not take any action against this as the likely-hood of this is low. Which risk response strategy are you following? 

a. Acceptance 

b. Avoidance 

c. Mitigation 

d. Transference 

50. The process of Conduct Procurements is part of which phase? 

a. Planning 

b. Execution 

c. Control 

d. Closure 

51. You are the Project Manager of ABC project. There was a conflict between two key project members. The three of you meet and decide to use compromise as the conflict resolution technique. Compromise generally leads to 

a. Win-win situation 

b. Win-Loose situation 

c. Loose-Loose situation 

d. None of these 

52. The Procurement statements of work is an output of which of these processes? 

a. Plan Procurements 

b. Conduct Procurements 

c. Control Procurements 

d. Close Procurements 

53. Which of these is a tool for Develop Project Charter process? 

a. Project selection methods 

b. Project management methodology 

c. Expert Judgment 

d. Earned Value Technique 

54. Which of the following best describes the purpose of a war room? 

a. A war room is used for meetings between the Project Manager and the customer. 

b. A war room is used for important meetings between the Project team and the senior management. 

c. A war room is used for collocation 

d. Whenever there is a resource conflict between different Project Managers, they meet in a war room. 

55. You are the Project Manager of a project involving building a computer. Your team members follow what you tell them because you have the authority to provide negative feedback in their performance appraisal. This is an example of which type of power? 

a. Coercive 

b. Referent 

c. Formal 

d. Reward 
56. Cost baseline is usually represented using which curve or line? 

a. a Slanted line 

b. an S-curve 

c. a Z curve 

d. a PQ curve 

57. You are in the process of Source Selection for a contract for your project. You are planning to use weighing process for source selection. There are four vendors being considered. There are two deciding factors price (weightage 40), quality (weightage 60). The scores of four vendors that your team has computed are displayed in the table below. Which vendor will among these four should be chosen? 

Vendor scores
	
	Vendor 1
	Vendor 2
	Vendor 3
	Vendor 4

	Price
	8
	10
	12
	11

	Quality
	12
	10
	8
	11


a. Vendor 1 

b. Vendor 2 

c. Vendor 3 

d. Vendor 4 

58. Which of the following indicate that the project is doing well? Select the best option. 

a. A negative Cost Variance 

b. An SPI of less than one 

c. A negative schedule variance 

d. A CPI of greater than one. 

59. You are performing Earned Value Reporting for your project. The project's CPI is 0.9 and the budget at completion is One thousand dollars. What is the estimated cost at completion? 

a. Nine hundred dollars 

b. One thousand one hundred and eleven dollars 

c. One thousand dollars 

d. One thousand and one hundred dollars 

60. You are working on a project to build a bridge. You have reached the planned half way mark. The total planned cost at this stage is five hundred dollars. The actual physical work that has been completed at this stage is worth $400. You have already spent one thousand dollars on the project. What is the CPI? 

a. 0.8 

b. 1.2 

c. 0.5 

d. 0.4 
61. You are working on a project to build a bridge. You have reached the planned half way mark. The total planned cost at this stage is five hundred dollars. The actual physical work that has been completed at this stage is worth $400. You have already spent one thousand dollars on the project. What is the Schedule Variance? 

a. -100 

b. 100 

c. -600 

d. 600 

62. John needs to visit many countries as part of his job. He has learned that he needs to avoid being ethno-centric. What does ethnocentrism mean? 

a. Not being friendly to strangers 

b. Unable to get adjusted to the food of a new place 

c. Belief that ones culture is superior to others. 

d. Initial shock of landing in a new country. 

63. You are planning to use screening system for source selection process to select a vendor for supplying food for your company? Which of these is a good example of screening system? 

a. You interview all the vendors and decide based upon the interviews. 

b. You negotiate with all the vendors and select the one that provides the best price. 

c. You only consider those vendors who have revenue of ten million dollars in the last financial year. 

d. You select the vendor who responds first to your advertisement. 

64. Which of the following is not an input to the Conduct Procurements process? 

a. Source selection criteria 

b. Make-or-buy decisions 

c. Organizational process assets 

d. WBS 

65. You are using control charts to perform quality control. Which of these situations does not indicate that the process is out of control and an assignable cause needs to be assigned. Assume that the control limits have been set to three sigma. 

a. One of the point is more than the mean + (3*sigma) 

b. Two points together are more than mean +(2*sigma), but less than mean + (3*sigma) 

c. Seven points together are on one side of the mean. 
d. 3 points are on either side of the mean.

66. You are the Project Manager of a car manufacturing company. As part of Quality Control you decide to check only 5% of the cars generated for environmental check. Which technique are you using? 

a. Pareto Diagram 

b. Control Charts 

c. Statistical Sampling 

d. Sample Selection 
67. Which of the following is true statement about risks? 

a. If a risk is identified in a risk response plan, then that means that risk has already happened. 

b. Once a risk has happened, you refer to the risk management plan to determine what action needs to be taken. 

c. A risk that was not planned but has happened is called a trigger. 

d. Risk identification happens in all the phases of the project. 
68. Which of the following is not true about the Close Project or Phase process? 

a. Contract closeout must be performed after the Administrative Closeout. 

b. The risk is the lowest at this stage of the project. 

c. The probability of completion is the highest at this stage of the project. 

d. Stakeholders have least amount of influence at this stage. 

69. Which of the following is an output of the Identify Risks process. 

a. Lessons Learned 

b. Checklists 

c. Risk Register 

d. SWOT Analysis 

70. In which process of Project Risk Management knowledge area are numeric values assigned to probabilities and impact of risks 

a. Perform Qualitative Risk Analysis 

b. Perform Quantitative Risk Analysis 

c. Perform Numeric Risk Analysis 

d. Plan Risk Response 

71. Your project is well underway, and the project management plan as well as subsidiary plans have been baselined and work is proceeding apace. A key project stakeholder has just approached you with a problem: a requirement was missed by the business in the requirements gathering process and they want it inserted into the project plan without having to go through the formal change request process. They would consider it a huge favor if you did so and would be willing to reciprocate at some later date. What should you do next? 

a. Talk to the stakeholder's manager about the stakeholder's request for a breach in the formal corporate change management process 

b. Since the stakeholder has key resources on the project, it may pay off in the long run to agree to the stakeholder's request 

c. Perform an impact assessment on the requested change and submit to the CCB for approval 

d. Agree to the request only if the stakeholder is willing to remove a less important feature of equal effort so as not to impact the costs or the timeline on the project 

72. Expert judgment is a tool and technique of all of the following processes except...? 

a. Identify stakeholders

b. Plan stakeholder management

c. Manage stakeholder engagement

d. Control stakeholder engagement 

73. Which of these is not an example of a project? 

a. Buying clothes from the market on a special sale. 

b. Planning for your friends wedding. 

c. Building a bridge across the Amazon river. 

d. Cleaning the office building every day.

74. Describing stakeholders based on their power (ability to impose will), urgency (need for immediate attention), and legitimacy (their involvement), describes what type of grid or model? 

a. Power/Influence grid

b. Salience Model

c. Influence/Impact grid

d. Power model

75. Which of the following best describes Plan Stakeholder Management process? 

a. Creation and maintenance of relationships between the project team and stakeholders 

b. Preventing negative stakeholders from derailing theproject 

c. Striking a balance between stakeholder needs and project needs 

d. Focuses on from the creation of the stakeholder management strategy 
76.  Which of these is not an example of a project? 

a. Mission to send a parrot to the moon.

b. Cleaning the city center every day before office hours begin.

c. Evacuation of city before a major storm expected this weekend.

d. Building a stadium in the city of Rio De Janeiro.

77. Claire is a Project Manager for building a new apartment complex. The planning of the project is complete and an Exit Gate meeting is scheduled. What is likely to happen in this meeting? 

a. Project's learning will be doucumented and the project will be closed.

b. Claires performance will be critically analyzed by the management.

c. The performance of the project team members will be reviewed by Claire.

d. Projects deliverables will be reviewed and a decision will be made on projects continuation.

78. Alice is joining a new project. Her manager informs Alice that requirements of the project will be defined using progressive elloboration. Which of the following option best describes progressive eloboration? 

a. The requirements of the project will be defined over a period of time in iterative fashion based upon feedback received.

b. Requirements are unknown at this time and will be defined later.

c. Requirements will be defined based upon discussions with the customer.

d. Requirements will be defined based upon discussions with the subject matter expert.
79. In which type of organization does the Project Manager has maximum authority? 

a. Balanced matrix.

b. Strong Matrix.

c. Functional.

d. Projectized.

80. Chris has joined ABC organization as a Project Manager. The project team members do not report to Chris. They report to Engineering and Accounting departments. Which type of organization structure best represents ABC style of functioning? 

a. Balanced matrix.

b. Strong Matrix.

c. Functional.

d. Projectized.

81. In which type of Matrix organization, does the PM have very little authority. 

a. Weak Matrix.

b. Strong Matrix.

c. Balanced Matrix.

d. Functional Matrix.

82. During which stage of a project, the stakeholders influence is maximum? 

a. Early phases.

b. During the middle of the project.

c. Late stages.

d. Stakeholders influence is same across all phases.

83. Which of these is not a valid knowledge area as per PMI? 

a. Requirements Management.

b. Integration Management.

c. Risk Management.

d. Procurement Management

84. Which of these is not a valid process group as per PMI? 

a. Initializing.

b. Visualizing.

c. Planning.

d. Closing.
85. The process of Identify Stakeholder is part of which process group? 

a. Stakeholder Management.

b. Communication Management.

c. Initiating.

d. Planning.

86. Which process group has processes from all the ten knowledge areas? 

a. Initiating.

b. Planning.

c. Executing.

d. Monitoring and Control.

87. Which of the following is not a process in Project Integration Management? 

a. Monitor and Control Schedule.

b. Report Performance.

c. Perform Integrated Change Control.

d. Develop Project Charter.

88. Tom is a Project Manager helping his company on selection of a new project. Tom is using Payback period project selection method. Which one of the four projects should his company select? 

a. Project A requires an investment of one million dollars. After six months of investment, project will generate profits of $50K per month.

b. Project B requires an investment of $100K dollars. It will yield returns of $5K per year.

c. Project C requires an investment of one million dollars. It will yield returns of $40K per month.

d. Project D requires an investment of $500K dollars. It will yield returns of $50K per month.

89. Mary is a Project Manager helping her company on selection of a new project. Mary is using Benefit Cost ratio project selection method. Which one of the four projects should her company select? 

a. Project A has a construction cost of $1 million and a projected sale price of $1.2 million.

b. Project B has a construction cost of $2 million and a projected sale price of $2.5 million.

c. Project C has a construction cost of $5 million and a projected sale price of $6 million.

d. Project D has a construction cost of $10 million and a projected sale price of $11.5 million.

90. Tim is a Project Manager helping his company on selection of a new project. Tim is using Net Present Value project selection method. Which one of the four projects should his company select? 

a. Project A has a net present value of $300K.

b. Project B has a net present value of $400K.

c. Project C has a net present value of $500K.

d. Project D has a net present value of $600K.

91. Chen is a Project Manager helping his company on selection of a new project. Tim is using Opportunity Cost project selection method. Which one of the four projects should his company select? 

a. Project A has a opportunity cost of $300K.

b. Project B has a opportunity cost of $400K.

c. Project C has a opportunity cost of $500K.

d. Project D has a opportunity cost of $600K.

92. Kumar is a Project Manager helping his company on selection of a new project. Kumar is using Payback period project selection method. Which one of the four projects should his company select? 

a. Project A has a Payback period of three years.

b. Project B has a Payback period of four years.

c. Project C has a Payback period of five years.

d. Project D has a Payback period of twenty-four months.
93. Jim is a Project Manager helping his company on selection of a new project. Jim is using Internal rate of return project selection method. Which one of the four projects should his company select? 

a. Project A has an internal rate of return of 5%.

b. Project B has an internal rate of return of 6%.

c. Project C has an internal rate of return of 7%.

d. Project D has an internal rate of return of 8%.

94. Samantha is a Project Manager of a Software product. The project required an initial investment of $100,000. The project generated a revenue of $20,000 in the first year. There were operational cost of $5000 and tax liability of another $5000. What is the return on invested capital? 

a. 5%

b. 10%

c. 20%

d. 0%

95. Which of the following is true about the project charter? 

a. The project charter is signed by the Project Manager.

b. The project charter is generated as an output of Develop Project Management plan process.

c. The project charter includes the detailed schedule of the project.

d. Project charter includes a high level view of project requirements, budget and milestones.

96. Which of the following is tru about the Project Management Plan? 

a. Project Management Plan identifies and authorizes the Project Manager.

b. Project Management Plan is a detailed project schedule defining tasks, their dependencies as well as primary milestones of the project.

c. Project Management Plan is a formal document that defines how the project is to be managed.

d. Project Management Plan is prepared as part of the Direct and Manage Project Work process.

97. George is the Project Manager of a project responsible for manufacturing shirts for a large order. During which process the shirts will get manufactured? 

a. Develop Project Management Plan

b. Direct and Manage Project Work

c. Monitor and Control Project Work

d. Create WBS
98. Perform Integrated Change Control process is part of which process group? 

a. Initiating.

b. Planning.

c. Executing.

d. Monitoring and Control.

99. Greg is a Project Manager of a construction project. The customer has requested that an additional room needs to be constructed at an extra cost? How should Greg respond to this request 

a. Document the request and present it to Change Control Board.

b. Refuse the request as this was not part of the original scope.

c. Accept the request as the customer is willing to pay for it.

d. Consult the project sponsor.
100. Which of these is not done during the Close Project process? 

a. Creation of deliverables of the project.

b. The handing over of deliverables to the receiving party.

c. Documenting the project learning’s.

d. Release of project resources.
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